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= 750
= 500
Al 1,250
307 QI2t0| ™ 10,000 0 10,000
= 3,000




FM: =2
& sUES0e I8 &
ol seFeols g4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,000
Al 5,000
02 IZtE M AHEE 10,000 0 10,000
OA=&Y &4ds X 10,000, 000 10,000
= 3,000
< 2,000
Al 5,000
Hdsgel s4 48,923 66,881 A 17,958
< 7,420
Al 41,503
MEINLE &4 14,123 29,301 A 15,178
< 450
Al 13,673
201 Let24d] 1,122 5,522 A 4,400
01 At 22l 1,122 5,522 A 4,400
OMus ¥ H&3 =9 XA 88,000+404 352
O Oisl Xtz 2 xtdl 770,000*1CH 770
301 LetBA S 13,001 23,779 A 10,778
< 450
Al 12,551
09 HALAHIXI &3 11,081 21,859 A 10,778
OdAH &4 X& 11,081
- e &4 XA 20,000x40H 800
-2 ¥ & us F8 A 100,000+ 15 1,500
< 450
Al 1,050
—HHus & A= AlH X2
8,000+30E 8 S & 1,920
—goioiaal Ayl X
8,000%322%H » 12| x80% 2,061
—SHSHHNE FAL MEwnsH|
20,000%30E 8 S & 4,800
12 JIEBHE4 = 1,920 1,920 0
OSZENLMELNDSE SANLY
120,000+ 163 1,920
HEIHHS A e &0 & nsXH 5,000 0 5,000
< 1,000
Al 4,000
201 Let24d| 1,780 0 1,780
< 356
Al 1,424
01 At 22l 1,780 0 1,780
OXtg Xl 770,000*1CH 770
< 154
Al 616
O2ZeEeE +¥ 1,010,000 1,010




FM: =2
& sUES0e I8 &
el dsge |4 (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 202
Al 808
301 LEHZ 3,220 0 3,220
= 644
Al 2,576
09 HALAHIX RS 3,220 0 3,220
oA XA 72,000%35H 2,520
< 504
Al 2,016
Ou=s Mg XN& 20,000%35H 700
S 140
Al 560
Hedsgol ssHil(desd HY) 84 10,000 11,500 A 1,500
< 3,000
Al 7,000
201 £B-2dH| 1,090 1,680 A 590
= 327
Al 763
01 At 22l 1,090 1,680 A 590
OFEZsYILus 2 & 2EA23
320,000% 14 320
< 96
Al 224
ONEZsYMLE s X LIl 770,000+ 1CH 770
< 231
Al 539
206 M= Hl 4,500 2,240 2,260
< 1,350
Al 3,150
01 MHZ 4l 4,500 2,240 2,260
ONdEsEIgns M=H  15,000«30% *102] 4,500
< 1,350
Al 3,150
301 LA F 4,410 7,580 A 3,170
< 1,323
Al 3,087
09 SALAHIX A S 840 4,480 A 3,640
OFSSNLDS HXDS 25 N
20,000%30H x 13l 600
< 180
Al 420
Odzsgiguns 4 XF 8,000x30H x13] 240
< 72
Al 168
12 JIEE43 3,570 3,100 470
ONZsEMEWSE TAsE 3,570,000 3,570
< 1,071




=82
gEeole Jg =
Hseiol g4 (el @2)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Al 2,499
E0H IsMEEEB X 19,800 19,080 720
& 2,970
Al 16,830
301 et A= 19,800 19,080 720
o 2,970
Al 16,830
12 JIEtE A2 19,800 19,080 720
OsZE8 (M- MBI P=
A& 60,000%330H 19,800
= 2,970
Al 16,830
AEsY DB &= 500,320 266,732 233,588
= 75,000
= 52,000
Al 373,320
22 AEZE 89 245,960 98,372 147,588
= 75,000
Al 170,960
HAaSEsY MA 2 5,280 5,481 A 201
101 e1214| 1,480 1,681 A 201
04 J|12ZtHIZ22NEES 1,480 1,681 A 201
OAZESEANE = o8
179,760%2&H 4! 1,439
OMAZEEMAIE o= 2 B8 =
438,080%28.5/1,000 41
206 M = dl 3,800 3,800 0
01 X2 b 3,800 3,800 0
OMAESEANE 89 3,800,000% 14 3,800
g2 29 36,800 38,300 A 1,500
201 gBt2Ad| 24,800 24,300 500
01 AP 2t 2| H| 2,000 1,500 500
Oootg =2 A8 ol (Al DJ|EFE
gt 5) 125,000%12& 1,500
Ot AS A8 500,000* 1Al 500
02 B232%H| 22,800 22,800 0
ootgx=2=2d d2H(ER)
2,700,000+6& 16,200
ootgU==22g MIIRe3 550,000« 12& 6,600
206 M = dl 2,000 2,000 0]
01 =4l 2,000 2,000 0
oorgyz=2 249 2,000,000* 14! 2,000
401 AlEHIZL £ 0HY| 10,000 10,000 0
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Ha: ADESY I8

E
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 10,000 10,000 0
Oorg =2 AlE X122 10,000,000 14! 10,000
= ASAIEE 2Y 11,480 12,681 A 1,201
101 @121 ] 1,480 1,681 A 201
04 JI2ZtHI22 XS 1,480 1,681 A 201
OB+ASAE ol ol
179,760%2%H 4 1,439
Ox=aSAE ol B2
1,438,080%28.5/1,000 41
201 gEt24Ay| 4,000 5,000 A 1,000
02 2=2=24%4| 4,000 5,000 A 1,000
Ol S A" S5 2¢
,000,000%14! 4,000
206 M = Hl 2,000 2,000 0
01 X2 H| 2,000 2,000 0
O=Zg3nE & ABHE 222 WP
ol (2, &Hd 2,000,000% 14! 2,000
401 AlEHIZL £ 0HY| 4,000 4,000 0
01 Al&H| 4,000 4,000 0
O SAIEHIEL Al K2el (AsHEAA,
2EHIY &) 4,000,000% 14! 4,000
S UEE ASAEEZ 29 10,500 10,500 0
201 Bt 4,000 4,000 0
02 2224 H| 4,000 4,000 0
OOZHXNE ASAYT Uiz 2
4.,000,000% 14! 4,000
206 M = dl 2,500 2,500 0
01 XHZ H| 2,500 2,500 0
OO0IEU&ZE ASANEE SH=
2,500,000* 1A 2,500
401 Al HI L 204 HI 4,000 4,000 0
01 Al&H| 4,000 4,000 0
oorgz= & S X 22l
4.,000,000% 14! 4,000
OlE HIAEHIE (A 29 31,900 31,410 490
201 et 14,500 14,010 490
01 AR 22l ] 2,200 1,710 490
OMAASAEE A2E 22 1,700,000% 14! 1,700
OMax ASAEZE gl 500, 000% 1Al 500
02 232%4| 12,300 12,300 0
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OADE HIAEHE AIEX 2|
1,550, 000+6H & 9,300
OAEZHl |X2eltl 3,000,000* 14! 3,000
202 044l 2,400 2,400 0
01 SLHOYI 2,400 2,400 0
Otlls Eg H2FX 2L
2,400,000* 14! 2,400
206 = Hl 10,000 10,000 0
01 MHZ 8l 10,000 10,000 0
OMBANE M2 7U(5%, 52 S)
10,000, 000* 14 10,000
401 Al HIZ 201 bI 5,000 5,000 0
01 A& HI 5,000 5,000 0
OHAE HE M4 2= 5,000,000& =14 5,000
ADEHAEWHE DE3 50,000 0 50,000
= 25,000
Al 25,000
401 AIEHI L 20HYI 50,000 0 50,000
= 25,000
Al 25,000
01 A& HI 50,000 0 50,000
OAOEHAEWHE &3 50,000, 000 50,000
= 25,000
Al 25,000
2 S8 JSEE MENs MSEA HLAY 100,000 0 100,000
= 50,000
Al 50,000
402 QI2H X201 M 100,000 0 100,000
= 50,000
Al 50,000
02 QI EASEZ (01X S) 100,000 0 100,000
Og S83 V=88 ANl M48EZF MM
AE 100,000,000 100,000
= 50,000
Al 50,000
== AlEAS 70,000 63,000 7,000
< 10,500
Al 59,500
A==20F AIH AL 35,000 28,000 7,000
307 21201 A 8,000 8,000 0
02 It S AHE L 8,000 8,000 0
Oootgtiu= BHE S RALA ME X
20,000, 000% 141 *40% 8,000
402 RIZEXtE0| A 27,000 20,000 7,000
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01 2IZEH 2 A B (KR ) 27,000 20,000 7,000
OZChel THEH 218 =& Al 40,000,000%50% 20,000
OUEZS 2SSk T2 AE 10,000, 000%70% 7,000
Ol&tDI4& Tol B == HEMA I AlY 35,000 35,000 0
< 10,500
Al 24,500
402 2I2H X201 A 35,000 35,000 0
< 10,500
Al 24,500
02 QI 2 AL EZ(OI X TH ) 35,000 35,000 0
OO0lADI A Dol B2 W= AFHMA Iz AlY
35,000, 000 35,000
= 10,500
Al 24,500
THAAlE AL 94,760 85,760 9,000
< 21,000
Al 73,760
CHSol*A E28 ANEE” X =4 44,000 30,000 14,000
< 21,000
Al 23,000
402 RI2HXt20l ™ 44,000 30,000 14,000
< 21,000
Al 23,000
02 22t 2 AL EZ(0I X TH ) 44,000 30,000 14,000
OHtsoteA 258 ANREE HXxd
50,000,000% 14 x60% 30,000
< 15,000
Al 15,000
OBIMFT ADE M2 I= AlEY
14,000, 000 14,000
< 6,000
Al 8,000
ML SSAZ WHHEX =4 AlE ALY 50,760 35,760 15,000
307 21201 A 50,760 35,760 15,000
02 QIAHFAAHEX 50,760 35,760 15,000
oM Est&=2 Ml &X =4
45,000,000% 14! 45,000
Oz Xgst ZEM M= X&
14,400, 000% 14] *40% 5,760
SIS ZHAIE ALY 89,600 19,600 70,000
< 20,500
Al 69,100
MY S AGAY 9,600 9,600 0
307 glz2+ol & 9,600 9,600 0
02 QIZtE M AMHEE 9,600 9,600 0
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SEFEEISEFIEEEPSVE
24,000,000 14! *40% 9,600
NEES EM 2EE=2 4 45,000 10,000 35,000
== 10,500
Al 34,500
307 2Iz2t0| & 10,000 10,000 0
02 QIZHEAAIRE E X 10,000 10,000 0
OFLIE S¥CE |4 AALA WX
25,000, 000% 14! *40% 10,000
402 BI2H X 20| M 35,000 0 35,000
o= 10,500
Al 24,500
02 QIZEXIEAISE X (0| XM THL) 35,000 0 35,000
O2£+2Z AUR EXOUY =4 AlY
35,000,000 35,000
& 10,500
Al 24,500
MoH B ST ZW WD A 35,000 0 35,000
= 10,000
Al 25,000
402 SI2vXHE0| ™ 35,000 0 35,000
o= 10,000
Al 25,000
02 QIZEXIEAIS E X (0| XM THL) 35,000 0 35,000
OHMAHH] 22 318:s 3™ HD AlY
35,000,000 35,000
= 10,000
Al 25,000
et s0|e =g 1,197,457 1,212,483 A 15,026
= 364,740
J| 3,833
o= 70,650
Al 758,234
NEE A MAH 169,780 168, 140 1,640
= 39,800
= 25,950
Al 104,030
SsH=Yols 2HHH A& 79,600 0 79,600
= 39,800
Al 39,800
307 QI2t0| & 79,600 0 79,600
= 39,800
Al 39,800
02 QI2tAAMAIE E =X 79,600 0 79,600
OdY - =2 gl 2 My X 79,600,000 79,600
= 39,800
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| Al 39,800
NEE & 84 8F3)IsXE 3,680 5,140 A 1,460
201 €2l 1,320 1,980 A 660
01 At 22/l 1,320 1,980 A 660
OsHES Moo =2 M=
66,000 107 23] 1,320
202 04l 1,920 1,920 0
01 = LH Yl 1,920 1,920 0
OAAAE HRF=E LAY 1,920,000 1,920
301 LBEAZ 440 1,240 A 800
09 HALAHIX &S 440 1,240 A 800
O, Jdgus 4L 24 88,000%5H 440
ZEtd sZSEA AY MuHeX =4 70,000 63,000 7,000
< 21,000
Al 49,000
402 QI2EXt20l ™ 70,000 63,000 7,000
< 21,000
Al 49,000
02 RIZE X2 AL EZ (OIS ) 70,000 63,000 7,000
OFSA SAsA AY ST T4
100,000,000& *70% 70,000
< 21,000
Al 49,000
FRES2E JNHUXAAZ 16,500 0 16,500
< 4,950
Al 11,550
301 LEtEBA S 16,500 0 16,500
< 4,950
Al 11,550
12 JIEtE4 3 16,500 0 16,500
223 ANAHXA 16,500, 000 16,500
= 4,950
Al 11,550
etgds2 23 A 969,197 906, 143 63,054
= 307,800
J| 3,833
< 37,500
Al 620,064
fetds2 2 48,219 30,000 18,219
201 Let24d] 48,219 0 48,219
01 At 22/l 9,419 0 9,419
Onstgdsa 2H=3 300,000%23] 600
Ounstdsa M= A 1,200,000%23] 2,400
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BRI EEE
BetysH 29 N CERED
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ORJI=ENM 5= ++2(2280, #Z2)
15,000,000*%2& 30,000
& 9,000
Al 21,000
206 M = Hl 45,000 98,400 A 53,400
== 13,500
Al 31,500
01 X2 H| 45,000 98,400 A 53,400
OsdE0|IME HHES Hi X 45,000
— S 4t (Lactobacil lus spp.) 23,000,000 23,000
< 6,900
Al 16,100
— &8t d 2 (Rhodobacter spp.) 22,000,000 22,000
=} 6,600
Al 15,400
2E2g)is 0d= g2 MM4Y SUII=s A" 20,000 20,000 0
= 10,000
Al 10,000
201 LBt Y| 1,000 1,000 0
2 500
Al 500
01 AP 22| d| 1,000 1,000 0
O0MZE ASAEE SHES
1,000, 000*1JH 2 1,000
= 500
Al 500
206 2 I 19,000 19,000 0
2 9,500
Al 9,500
01 X2 bl 19,000 19,000 0
O=gE20IMZ HES B Xl 19,000
— HIE0lZ(Bacillus velezensis)
19,000,000 19,000
= 9,500
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SA UMM M2 Mak 29 T& 50,000 0 50,000
o=} 15,000
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206 T 2 bl 50,000 0 50,000
< 15,000
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01 =4l 50,000 0 50,000
O=H A H2 DM BHE =2 Hi X 50,000
—JNeldEsgllsd SM4HEFPA Y 0l
= 33 50,000,000 50,000
& 15,000
Al 35,000
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FA: JlsE21
M st A =8 =g
Se: DEYsE 2 N c
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 200
OZEZZY NEXHHE =5 5002 *5,0000H 2,500
= 1,250
Al 1,250
206 M= Hl 12,000 10,000 2,000
= 6.000
Al 6,000
01 MHZ 4l 12,000 10,000 2,000
OEEHZY 88 M= 12,000
— 2488 NI (=4 2) 120,000%50& 6,000
= 3,000
Al 3,000
— X 2 288 M= 120,000%505 6,000
= 3,000
Al 3,000
SUANEN Ol#HEZ ESZZAH(ZHI) 3,833 3,833 0
J| 3,833
206 M= Hl 3,833 3,833 0
J| 3,833
01 =8l 3,833 3,833 0
OZARSH 0/#F2 EA2AA W2
3,833,000+ 170 £ 3,833
J| 3,833
hs2heds 29 22,600 41,000 A 18,400
= 11,300
Al 11,300
101 1A bl 17,042 21,010 A 3,968
= 8,521
Al 8,521
M4 JI2ZHZEXNSES 17,042 21,010 A 3,968
ONE2L 2HME BXolz 02|
1,914,440« 18«80 & 15,316
= 7,658
Al 7,658
O =2 244y BEX0d B2 1,726
—HLEE 15,315,520%3.495% 536
= 268
Al 268
—&AJRYEE 535,270%11.52% 62
= 31
Al 31
— =323z 15,315,520%4 . 5% 690
= 345
Al 345
- 1828 15,315,520%1.75% 269
= 134
Al 135
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HE: Degisle =
o dstgsa 29 XA o
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
—MTHEE 15,315,520«11/1,000 169
= 85
Al 84
206 =8l 5,558 0 5,558
2 2,779
Al 2,779
01 M= Hl 5,558 0 5,558
OJNEER 288 e 5,558
— 2488 A 295,800%105 2,958
= 1,479
Al 1,479
—224d 20 S 100,000%105& 1,000
= 500
500
— ElHl 255 #F J|E 160,000% 103! 1,600
2 800
Al 800
s&=s golls ddy 29 18,000 18,000 0
= 9,000
Al 9,000
101 @l 28] 1,480 1,681 A 201
= 740
Al 740
0412 RZ22TSE= 1,480 1,681 A 201
OBHBURE 0IZI| oY
179,760%2% x4 3| 1,439
= 719
Al 720
Ogdisu&EE W=D 27 2= 40,970 41
= 21
Al 20
201 LBt2 5,520 6,319 AT99
= 2,760
Al 2,760
01 At 22l bl 5,520 6,319 AT99
Odoflsdds 28235 7Y 300,000%62 1,800
2 900
Al 900
OdolsnzZe 28=3 7 344,000+52] 1,720
= 860
Al 860
OdYdis HZYMS D= (HPs, =)
200,000%10& 2,000
= 1,000
Al 1,000
401 AlEH 22 OhYI 11,000 10,000 1,000
= 5,500
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2N

HeY

= =

(SRS |

=22
Ha: DeresOle 2y
Se: DEYsE 2 N (S &2)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
01 A& HI 30,000 0 30,000
OB TH & %
30,000,000* 14 30,000
2 15,000
Al 15,000
405 RHoHF S HI 470,000 500,000 A 30,000
2 235,000
Al 235,000
01 ML EF 470,000 500,000 A 30,000
OJAa= J1 (GC-MSMS)
80,000,000+ 1set 280,000
2 140,000
Al 140,000
Osdatsot | 2 (258)
190,000, 000* 14! 190,000
= 95,000
Al 95,000
stE2 e XA 58,480 138,200 AT9,720
= 17,140
S 7,200
Al 34,140
L5 24 N& 20,000 24,000 A 4,000
= 10,000
Al 10,000
201 L2l 6,180 7,900 21,720
= 3,090
Al 3,090
01 At 22l 4,680 6,400 AN1,720
OZdis 1 1,320,000%13] 1,320
= 660
Al 660
OZdiasus S 130,000+ 143 1,820
= 910
Al 910
OZars 8#&AS A& Y X
770,000%23] 1,540
= 770
Al 770
03 A2 Z Hl 1,500 1,500 0
OZdLs & 375,000%43] 1,500
= 750
Al 750
301 LA F 13,820 16,100 A 2,280
= 6,910
Al 6,910
09 A& HI X 4,720 6,800 A 2,080
OZdas us &4 520,000 520




FA: JlsE21
M st A =8 =g
Sl SIHAY R K& (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 260
Al 260
OZas @A &4 X 200,000%53] 1,000
= 500
Al 500
OLss NERUM HIME X
500,000%42] 2,000
= 1,000
Al 1,000
OZd4L=s 8EME 0 N&  20,000«30E 23] 1,200
- 600
Al 600
12 JIEBHEA S 9,100 9,300 A 200
OYrs IS o ALY ALY
910,000+ 103] 9,100
= 4,550
Al 4,550
dos A2t € dutEI K& 10,000 10,000 0
- 5,000
Al 5,000
201 LB-2E| 7,600 7,600 0
= 3,800
Al 3,800
01 At 2t 2l 6,040 6,300 A 260
OZAasUHE 2A Xl 4,500,000 14! 4,500
= 2,250
Al 2,250
OZAsUE g & XHy| 770,000+23] 1,540
= 770
Al 770
03 A2 Z Hl 1,560 1,300 260
OZarsldE 2H23 1,560, 000% 14 1,560
= 780
Al 780
301 LPENF 2,400 2,400 0
= 1,200
Al 1,200
09 HALAHIX &S 2,400 2,400 0
OZiLstHE FAX 243 1,200,000%23] 2,400
= 1,200
Al 1,200
HMsRALE s IME N 24,000 0 24,000
< 7,200
Al 16,800
402 QI2H X201 M 24,000 0 24,000
< 7,200
Al 16,800
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 24,000 0 24,000
O Z2HIEH J&EsIH 2L K&
15,000, 000%2 4 2~ *80% 24,000
& 7,200
Al 16,800
HUEsgol AGRALUELHLE 4,280 3,000 1,280
= 2,140
Al 2,140
301 et A= 4,280 3,000 1,280
= 2,140
Al 2,140
09 SHAIAHI XIS 2 1,500 500 1,000
OFdE=sgel s &4 X 100,000%59H *33] 1,500
= 750
Al 750
12 J|EtE A= 2,780 2,500 280
OFU=0 AYALY ALY
2,780,000% 14l 2,780
= 1,390
Al 1,390
FYINH BB 2= X 200 200 0
201 et Y| 200 200 0
01 AP 22| d| 200 200 0
OXFESNE NH=E 2 100,000%23] 200
SOl AH Dl &5 1,715,387 1,202,757 512,630
= 604,500
o= 138,000
Al 972,887
SEIH LA 1,669,097 1,122,467 546,630
= 600,000
= 138,000
Al 931,097
SO H LdUHAMEHE 29 409,097 322,467 86,630
101 e1214| 56,723 0 56,723
04 JIZtHIZ22XNSES 56,723 0 56,723
OLUHANYEHE 228X 56,723
—-Jl23 2,232,120%2H 11 & 49,107
— X E 85,440*x2H x 11 1,880
—BEI2(HY I ,201) 4,281,630 4,282
—2E82(102,6MM) 1,453,100 1,454
201 et | 250,050 219,646 30,404
01 AP 2t 2| bl 12,910 13,830 A 920
OLUAMNEE 29 228 P2
120,000%3 2~ *12& 4,320
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SR SSIIH LA (e &)
S BB B (HA) - HRAY - BAS 0f & o il 2
OLUUHAMNSE 2923 OI=Hl 1,170
— &= 100,000%3Y 300
— gst= 150,000%3H 450
— 29 40,000+3Y 120
— &3 100,000%3Y 300
OLUAMIE SOIAE I AHl  80,000%4CH 320
OLUHAMEHE =2 22X HE  3,000%1,000& 3,000
OAad SHUI(2ED], A3E20, XNAHX) ot
& AI|l HAH 50, 000*10CH 500
OU=LIIH MBS FCZHUY 442
300,000*12& 3,600
02 =294l 237,140 205,816 31,324
ogdEe sgIlH dg 2 15,440
— YR 1,591%4,000¢ 6,364
-&8% 1,388+%4,0004 5,552
-S= 881x4,000£ 3,524
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60,000+ 10& *90CH 54,000
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500,000+ 15CH 7,500
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OLUUAEE Ro1ZH 89
600,000*30 A~ *12& 21,600
OsgIIH 2 DAAE 22 249
300,000*12& 3,600
O=II BXRA @ PRED 2T 2
30,000,000 14 30,000
206 M =8l 72,000 40,000 32,000
01 M= bl 72,000 40,000 32,000
O2dUE sgIIH 224 22 7Y
60,000*10& *120CH 72,000
401 Al HI L 20 H| 30,324 4,821 25,503
01 Al& HI 30,000 4,000 26,000
O22a AUHAISE HtEY 2= & dX SA
20,000,000 14 20,000
O22 AUHAISE UAAE 0F2 FF&EA AX
S At 10,000,000* 14 10,000
03 Al&E 201l 324 821 N497
O22a AUHAISE HtY 2= & dX SA
A& 20| 20,000,0001.08% 216
O22 AUHAISE UAAE 0F2 FF&EA AX
A& 20HYI 10,000,000 1.08% 108
SO HL UMY (FAX L2DHSH X&) 600,000 400,000 200,000
= 300,000
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600,000
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600,000
300,000

60,000
240,000

600,000

401 AIEHIZ 2 I

= W

600,000
300,000

60,000
240,000

600,000

01 A& HI

03 Al€ 2 i1
OAlE 2 Tbl

=24 sIIHSUAMSE

0l

= 596,244,000

3,756,000
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596,244
298,122
59,624
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3,756
3,756
1,878
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A Jlz=E220
BB S0 Ol =5
el s DS (e
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 4,370 3,370 1,000
OS2I #5428 228 2¢
50,000%801 & 1,200
SYI|H =3l%els8 27 2
20,000%x10&=+10& 2,000
O=3|4el2Y I = 1,170
— &= 100,000%3H 300
— & At 100,000%3H 300
— gtét= 150,000%3H 450
— 9 40,000%3H 120
02 2324 1,000 1,000 0
OsgIJIH =3=cl& HHlx2 ¥ dg 2
200,000%x5= 1,000
202 o4l 1,920 1,920 0
01 2Ll 1,920 1,920 0
OsgIIH 9FF& 2 WAL 1,920,000 1,920
206 M = dl 20,000 30,000 A 10,000
01 =4l 20,000 30,000 A 10,000
OsglIH =328 NI 88 2¢
20,000,000% 14! 20,000
307 212t0| & 10,000 10,000 0
12 QI2+0I 2| Ef ) = H] 10,000 10,000 0]
O=sgE2 A8=H8H HAFS 1=
200,000%50&H 10,000
SYI|H & ALNR 9,000 9,000 0
= 4,500
Al 4,500
201 et 3,000 6,200 A 3,200
= 1,500
Al 1,500
01 AP 2t 2] H| 3,000 6,200 A 3,200
OsgJIH = =9 H& 40,000%100H 400
= 200
Al 200
Onsdd =25 2 30,000%203] 600
= 300
Al 300
O=sgIIA s WM M 20,000% 100 2,000
= 1,000
Al 1,000
206 M H| 6,000 2,800 3,200
= 3,000
Al 3,000
01 X Z H| 6,000 2,800 3,200
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X{ XH -
S =

le22n
SIIAH Dl 25

S sYIHLE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsglIH t¥Ne8ES 2 40,000% 150 6,000
= 3,000
Al 3,000
SEME 23 N 792,131 563,781 228,350
ZAY 712,251 461,011 251,240
20| A= AIJHA =4 467,251 216,011 251,240
201 LBH2E| 17,251 16,011 1,240
01 At 2t 2l 10,100 9,725 375
OZSRE 29 42 200,000+ 12& 2,400
OZ=2& 29 Zl 440,000 10CH 4,400
OAMS&HE S HIJI ==
15+55,000kg*4 3] 3,300
02 =224l 7,151 6,286 865
OZsE 29 &FH A 7,151
— L= 1,591%200¢ »12& 3,819
-3 % 1,388%2004 »12& 3,332
206 M= Hl 300,000 200,000 100,000
01 =8l 300,000 200,000 100,000
O=s82&8 3 & HM-2e
12,500,000%6& *4 3| 300,000
405 XHoHE S HI 150,000 0 150,000
01 AL EZFH S 150,000 0 150,000
OAIJHAl ZAtY Z2EXH 2 150,000
- S (d3)E™ 90,000, 000*1CH 90,000
—SIEEY 60,000,000+ 1CH 60,000
g82 EX 22X Zd2e 245,000 245,000 0
206 M= Hl 50,000 50,000 0
01 MHZ 8l 50,000 50,000 0
ogazd 26X x4 A =& 50,000,000 50,000
401 A& HI K 201 8] 195,000 195,000 0
01 A& Bl 195,000 195,000 0
Ogazd 26X =4 =) 30,000, 000 30,000
ogad 2 x4 =) 10,000, 000 10,000
Oog&zd 26X =4 =) 40,000,000 40,000
O8&Z ZHX =L (AMAXR) 25,000,000 25,000
odgazd ZeX 2l 22,500,000%4H £ 90,000
18X 29 79,880 102,770 A 22,890
AMEZZE 2t 46,600 47,650 A 1,050
201 Let249] 21,600 22,650 A 1,050
01 At 22l 5,700 6,750 A 1,050




FM: =2
HE: sEMY 225 X8
SR ANEEY 29 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANEZZE 2 425 2¢ 300,000*19& 5,700
02 2324l 15,900 15,900 0
OHIIRS 13,500, 000%17H £ 13,500
O&EJIerA 2teltl 200,000 12& 2,400
401 Al HIZ 201 8] 25,000 25,000 0
01 A& HI 25,000 25,000 0
ONEZE 2R olA S AME B
2,000,000*109H £ 20,000
OAlE |Xl&e 5,000,000+ 17K £ 5,000
Hota22 29 6,940 7,560 A 620
201 2et2d] 6,940 7,560 A 620
02 232gHl 6,940 7,560 A 620
OdlE.Us . 242 A2
6,940,000% 14! 6,940
22 2F 6,940 7,560 A 620
201 Let24E] 6,940 7,560 A 620
02 2324l 6,940 7,560 A 620
Ogalz2 29 KAzl 6,940,000 14! 6,940
SN =25 29 5,000 5,000 0
201 Let24d] 3,000 3,000 0
01 At 22/l 3,000 3,000 0
OF2=s%d 29 =&l 3,000,000%17H £ 3,000
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
OF2L=sd 2F ME 2,000,000+ 14! 2,000
SANSsE AL 14,400 35,000 A 20,600
307 21201 A 14,400 30,000 A 15,600
02 HAFHAANGFEX 14,400 30,000 A 15,600
o4 dNEE d X&  3,600,000%40H A 14,400




